SURDS-SET-1

1
Simplify.
Vo8 /50 +/8
AnSwer (b) . .....eeveueererseneresmenenens (2]
MS-1 (b) 4+/2 or2+/8 or v/32 B2 B1 for two of 7+/2 or 5+/2 or2+/2
seen
[31
2
(a) Simplify 72 /50 .
ARSWET(Q) |, iiiiiisiissesessersessins [2]
(b) Write in its simplest form by rationalising the denominator.
2-43
ARSWEr(B) s 2]
MS-2 — —
(a) 2 B2 If BO award B1 for 6v/2 or 542 seen
2+4/3
(b) 2+ 43 or =- V3 B2 If BO then M1 for XM seen [4]
1 2+4/3
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(a) Simplify.

V75 -7

| T — [2]

(b) Rationalise the denominator.
7
5-42
ARSWEr(B) | ..o (2]
MS-3

(a) 243 2 | Blfor 53 or 33
(b) 75+42 2 Accept other correct alternate numerators, but

23 must see 23.

5+42
(5++2

M1 for x
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(a) Simplify 8v2 +2+8.

AnSWET(A) s (2]
(b) Simplify by rationalising the denominator.
32
3-42
ARSWEr(B) o ——— 2]
MsS-4
@ |12¢2 B2 | IfBO award BI for 4+/2 seen
) | W26 332 +2) B2 | If B0 award M1 for intention of multiplying
7 7 numerator and denominator by 3 + V2
[4]
5 (a) Simplify.
V27 + V147
ANSWET(Q@) ..o [2]
(b) Rationalise the denominator.
3—+5
3++V5
ANSWEF(D) ..o [3]
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MS-5
@ |1043 2 | M1 for 343 or 73
(b) 7-3V5 or 1465 3 1\/11for><3_‘/g
2 4 3-45
M1 for “‘j‘/g ab# 0 oe
6 L
(a) Simplify /75 .
ARSWEr(a) —......covveeireeeiersssesssssss e eeaeans (1]
" 2 S .
(b) Simplify by rationalising the denominator.
5-3
ARSWEE (D) [2]
MS-6 (@ |53 Bl
(b) 5+43 or 26+ ‘/g) oe B2 Only allow denominators of 11 or 22.
11 22 If BO give M1 for intention of multiplying
5 3
Final Answer Y i J_
5+43
131
7
Expand and simplify (v2+1)3v2-1).
ANSWeEr(B) e ————— [2]
MS-7
5+242 ‘ 2 ‘Ml for 3v2+/2 —v/2 +3v2 — 1 or better [4]
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(a) Simplify.

V12
ANSWEr(a) ... oo (1]
M8 () 23 1
9 Simplify (5+ v3)2.
ARSWEF ..o [2]
MS-9
28+10\/§ or 2(14+5\/§) final answer 2 M1 for 25 +5\/§+5\/§+\/§x\/§ or better
10 Simplify completely.
N27
NE)
ARSWEI(C) | ....oirerercesssisisssssesssssssssassssssassans (1]
MS-10 3 | 1 | Accept £3 or -3 [3]

0607-Cambridge International MathaR2v.smartexamresources.com 5




11 (a) Simplify.
V200 — /98
F K (7 R [2]
(b) Rationalise the denominator.
11
5—4/3
ANSWEF(D) et e e ————— [3]
MsS-11
(a) 3«,5 2 B1 for either 10\5 or 7\5 seen
(b) 5+43 3 | M1 Multiplying by 2 V3
3 o.e 5+ \/g
M1 for 25 — 3 seen
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